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(a)tlﬁx>y
(b) Tfd x>y
(c)tlﬁx<y
(@) afdx <y
()T x=y T x 3R y & I PIg Ja WIfd g fpan s Tebar §

QLL2x*-7x+6=0
IL.6y?-11y+3=0
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Q2. 1.12x*+16x-3=0

Il. 6y* - 25y +4=0
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Q3.1.3x*+x-2=0

IL. 2y* +5y-3=0
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Q4.1.5x*+11x+2=0
IL.3y*+11y+10=0
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Q5.1.16x* = 16x - 4
II.4y*-9y +5=0
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Q6.1.x2 —=36=10
IL(y—3)2=0
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Q7.1.6x* —5x—21=0
1.2y =19y +35=0
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Q8.1.2x2 —x—15=10

Ly —7y+12=0
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Q9.1.2x2 = 5V3x + 6 =0
.15y —8V3y +3 =10
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Q10.1.2xz + 21x "2 = 13x2

.6y? =19y +15=0
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Directions (11-15): fFrafefaa usl # gF gfiw=or 1 3R 1 faw e &1 Y gvfiezur
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L.6p2+5p+1=0
o1r, 112047 +9q = —1
@3 p>q

b acp=q
(©T&p<q
(@3fcps<q
(e) TG p = q TT Ty TG &1 fHar S Gbarn B
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1.3p2+17p +10 =0
Q12 11.10g% +9g +2 =0

() p>q
OEIE
(©T&p<q
d3Ep<q
(e) TS p = q T1 &Y T &1 fHar o1 YHar 1
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L.p*+24=10p
a13, 11.2¢% + 18 = 12
(@3 p>q

() p=q

(©TEp<q

(dAp=q

(e) TfS p = q TT Faiy TG 7Y fopan &1 Ihall B
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I.bp +2q =96
q14, 11 3(7p + 5¢) = 489
@3cp>q
(b)AEp=q
(©Tfp<q
(@AApsq |
(e) TfS p = q TT Faie TG 7T fowan &1 hall B
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Q1s. II.g° — (36)° =0
@3dEp>q



(b)cp=q

(©3REp<q

(dTEp=q

(e) e p = q 1 ey g =1 fosan <1 opant B
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Solutions
S1. Ans.(b)
Sol.
I. 2x2-7x+6=0

2x%2-4x-3x+6=0
2x(x-2)-3(x-2)=0
3

X=E,2
I 6y>-11y+3=0
6y* -9y -2y +3=0

3y (2y-3)-1(2y-3)=0
13

2

3
X2y
S2. Ans.(d)
Sol.
L. 12x%+16x-3=0

12x*+18x-2x-3=0
6x (2x+3)-1(2x+3)=0
1 3

T6’ 2
I1. 6y*-25y+4=0
6y*-24y-y+4=0
6y (y-4)-1(y-4)=0
1
y=g,4

Sy2X

S3. Ans.(e)

Sol.

L. 3x2+x-2=0
3x*+3x-2x-2=0
3x(x+1)-2(x+1)=0

2
x=-1,=-
3

1. 2y*-5y-3=0

2y’ +6y-y-3=0



2y (y+3)-1(y+3)=0
1
y= El -3
~no relation

S4. Ans.(e)
Sol.
L. 5x*+11x+2=0

5x*+10x+x+2=0

5x(x+2)+1(x+2)=0
1

X=—E,—2

1. 3y*+ 11y +10=0

3y’ +5y+6y+10=0

y(By+5)+2(3y+5)=0
5

y=—3-2

~ no relation

S5. Ans.(c)
Sol.
L. 16x% = 16x -4

16x*-8x-8x+4 =0
8x(2x-1)-4(2x-1)=0
11
22
1. 4y?-9y+5=0
4y?-5y-4y+5=0
; y(4y-5)-1(4y-5)=0
y=;1
.'.y>X

S6. Ans(e)
Sol.
L.x2—36=0

IL(y—3)?%=0
y=3
so, no relation between x and y

S7. Ans(c)
sol.
.6x>—-5x—21=0
6x> —14x +9x —21=0
(2x+3)3x—-7)=0
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IL.2y2 — 19y + 35 = 0
2y? —14y =5y +35=0
2y =50 -7)=0

y=7,

N[ Ul

So,x <y

S8. Ans(d)
Sol.
[2x2—x—15=0
2x>—6x+5x—15=0
(x—=3)2x+5)=0
5
x =3, >
Ly? -7y +12=0
y2—4y—-3y+12=0
-Hy—-3)=0
y=34
So,x <y

S9. Ans (a)
Sol.

2x2-5V3x4+6=0
2x2 —4/3x —\V3x+6=0
(x —2v3)(2x—+V3) =0

V3
X=2\/§,7

.15y%2 —8V3y +3 =10
15y% —=5V3y —3V3y +3 =10
(V3y—1)(5V3y —+3) =0
1 V3
V=38
So,x >y

S10. Ans (a)
Sol.
3 _1 1
[. 2x2+4+21x 2 = 13xz2
2x%>—13x+21=0
2x>—7x—6x+21=0



2x—7)(x=3)=0

x= 3 ,E
I.6y> — 19y + 15 =0
6y>—9y — 10y +15=10
By —=5)(2y —3)=0

- 3
Y= 2

§;

So,x >y

S11. Ans.(c)
6p > +5p+1=0
6p°+3p+2p+1=0
3p2p+1)+1(2p+1)=0
SPTy
20g°+9g+1=0
=20q°+59+4q+1=0

-1 -1
R ANy
Lp=gq
Sol.
S12. Ans.(c)

3p*+17p+10=0
Ipt+15p+2p+10=0
3p(p+5)+2(p+5)=0
=:-p=—5,_?2

10g°+9g+2=0

= 10g° +5¢+49q+2=0
5+ (2g+1)+2(2g+1)=0

Sol.

S13. Ans.(a)



p +24=10p
=>pi—10p+24=0
pr—6p—4p+24=0
plp—6)—4(p—6)=0
Sp =64

2q° +18=12gq
=2g°—12g+18=0
2qg° —6q—6g+18=0
=2q(g—3)—6(g—3)=0
=q=373

Sol, “P 71

S14. Ans.(a)

S5p+ 2 =96 e (% 5)

7p+5q =" =163 ....(x 2)

= 25p + 10g = 480 ..(i)
14p + 10q = 326 ...(ii)
Subtract (ii) from (i)

11p = 480 — 326
=12 14
11
Now, 5p + 2g = 96
2g =96 —5 X 14
— S9e—T0 =13
2

SpEag

Sol.

S15. Ans.(b)
15 9 z



